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KEVET T

Hangute 3HayeHUa normvyeckux BblpakeHuu:
a) (1V1)V(1VO0);
(1VO)V1)V1,
c) (OV1)V(1V0);
(0&1)&1;
1&(1&1)&1;
1V0)&(1&1))&(0V1);
1&0)V(1&0))V1;
1&1)V0)&(0V1);
0&0)V0)&(1V1).




3anaHue 2

Orlpeuen UT€ NCTUHHOCTb COCTaBHOIO

BbickasbiBaHus: ( A& B ) & (C VD), cocrosiLero u
NPOCTbLIX BbICKa3blBAHWIA:

A = {llpuHTEp — YyCTPOUCTBO BbiBOAA MH(OPpMaLnn},

B = {l['lpoueccop — yCTPONCTBO XPaHEHUS
MHpopmauunn},

C = {MoHuTOp — YyCTPOMNCTBO BbiBOAA MHJOpMaLnn}

D = {KnaBunatypa — ycTpomncTteso obpaboTku
MHopmauunn}.




3anaHve 3

[laHbl npocTble BbiCKa3biBaHUA:
A = {[lpnHTEp — ycTpONCTBO BBOAA MHJOopMaLnun},
B = {[poueccop — ycTponucTtBo 06paboTkn nHopmauunm},
C = {MoHUTOp — YCTPOUCTBO XpaHEHNSA NHOpMaLnmn},
D = {KnaBuaTtypa — yCTpOMUCTBO BBOAA MHGOpMaLnUn}.
Onpenennte NCTUHHOCTL COCTaBHbLIX BbiCKa3blBaHWUMN:
a) (A&B) & (C V D);
6) (A&B) ==(B&C);
B)(AV B) <= (C & D);
NA<<5B.




